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13-5 Law of Cosines

Objective:
Solve problems by using the Law of Cosines
Determine whether a triangle can be solved by first using the law of sines or cosines.

Law of Cosines c

a2 =b2 + c2 - 2bc cosA b a
b2 =232+ c2 - 2accos B
c2:a2+b2—$

cos C

Ex 1) Solve triangle ABC. C=73,b=10,a=7
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Ex 2) Solve triangle ABC. a=9,b=7,c=12 *ﬁﬂ""h’“ a“ﬂk ‘| l\Lf.4
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Ex 3) A helicopter flies 55 from its base at point C to an accident at point B, then 35 miles to
the hospital at point A. Angle B equals 42 degrees. How far will the helicopter have to fly to
return to its base from the hospital?




